20133 = =0 &F LS AoteZ A
SN &Gt ALY
g 0tesxAE
el =2 ae 23

A g d A

= ~ XN L=
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
ABtET A 15,905,323 13,018,573 2,886,750
= 2,558,000
= 5,872,000
& 1,071,400
= 6,403,923
DIS24AE SN (HARS/MGH4E - 27) 3,246,716 3,488,407 A 241,691
= 1,372,000
& 80,700
= 1,794,016
&2l 23 154,586 154,586 0
Il =ZZA 154,586 154,586 0
201 L Et29H| 141,840 141,840 0
02 2324l 141,840 141,840 0
Obtsd=csd0IER 90,0003 *12& 1,080
OS2I M2 140,160
— 2 (Xot=s:1085/24) 76,000 x260H 2= *13] 19,760
— @ (H2:585/8]) 30,000& *20H A %23] 1,200
— & (AH2085/24) 220,000& x209H 2= *12] 4,400
- &= 114,800
140 s 60,0003 28001 2~ 13| 16,800
57TH&= 350,000& 2804 & %13 98,000
O%=H &#IR3 50,000 x 101 2~ *123] 600
206 M Z 8l 12,746 12,746 0
01 M= 4l 12,746 12,746 0
Of2 4524 Y 3,000 #2734 & x63] 4,914
O==ZZA JIXH L AlSPY 5,290& 8001 4,232




Sk
X ZH -
=1

el

1~ 20z
A o ob

= = & E
SN BE-CRI(BH) - NREAMY - BAS 0l &k 24 e 2
Obtd29Y ol =2E2H>2 Y 150,000& x2E +12& 3,600
A& 2tel 433,300 419,200 14,100
= 24,000
= 409, 300
=& S22 80,000 104,400 A24,400
= 24,000
= 56,000
307 gIz2tol & 80,000 104,400 A24,400
= 24,000
= 56,000
05 QIZIR &t = 80,000 104,400 A24,400
OEHIEXZ AL 80,000
— sS4 80,000, 000& =14l 80,000
= 24,000
= 56,000
a5 A2 353,300 314,800 38,500
307 g1z2tol & 353,300 314,800 38,500
05 QIZtR &t = 353,300 314,800 38,500
Oblts&=5 A2 1,100, 000& 2034 4 223,300
ObtS&dsE HEEts 130,000, 0003 * 14! 130,000
A& 2,029,830 1,657,621 372,209
= 932,000
= 1,097,830
S5 FAESAY 697,830 609,270 88,560
203 & £ =&l 3,000 3,000 0
OBAMFAARFA 3,000 3,000 0
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AR A
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SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

ObtE24d=S AI#EFX 500,000& *63| 3,000

401 AlEBIZ 2 0H 8] 694,830 606,270 88,560

01 Al & HI 692,850 602,850 90,000
Otttz 2esiEs 300,000, 000& =14 300,000
OXlot= AtZ2el (Y E XA 4,000,000& *8IH 2 32,000
Ol =22 WA (201 A 200,000, 000& =14 200,000
O0tS& % SHIHH ALY 20,000, 0003 *5IH 2 100,000
Olt24da+E MEENEx (=X Jl, e XIAIL) 5,000,000& * 1001 2 50,000
OL2EESANEEX L w22 1,000,000 10K A& 10,000
O H Uvadl WX 850,000 =1 & 850

03 Al &= 0HHI 1,980 3,420 A1,440
Ot =22 WA 200,000,000& x0.72% 1,440
Oltsas+E AMEENE > 50,000,000& x1.08% 540

AR TAIEISALS 1,332,000 600,000 732,000
= 932,000
= 400,000

401 AlEBIZ 2 0H 8l 1,332,000 600,000 732,000
= 932,000
= 400,000

01 Al & HI 1,327,204 596,280 730,924
O&E3 H ALY 1,327,204
—SHE0SASTIHA (600 L) 1,327,204,000& =14 1,327,204
= 932,000
= 395,204

03 Al &= CHHI 4,796 3,720 1,076
OZE3AMA 4,796
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CEB . S(EH) - HRAY - BAS
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fEle=
Ol &t o

—solEtEaS

a

SOoHA

1,332,000, 000& *0.36%

4,796

i

Mooy

629,000
440,000

56,700
132,300

1,257,000

A 628,000

M Mool

629,000

440,000
56,700
132,300

1,257,000

A 628,000

401 AIEHIZL 2 THHI

M ool

629,000
440,000

56,700
132,300

1,257,000

A 628,000

01 Al &4

OZE3AHAMN

03 AIE& 2 0HHI

OZSE3AHAM

625,037,000& =14

629,000,000& *0.63%

M oH ool

625,037
625,037
625,037

440,000
56,700
128,337

3,963
3,963
3,963

1,252,500

4,500

N627,463
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0
H
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M o

7,391,597

4,500,000
2,891,597

7,597,558

N 205,961

M e

7,391,597

4,500,000
2,891,597

7,597,558

A 205,961




A Aot Z AN A
HH: YMSTO %22 UHN DI(BYRE/MGLE - 2H)
Chelr Nga=C HY (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
SHEYESSHE 6,429,000 5,714,000 715,000
= 4,500,000
= 1,929,000
401 AIEBIZL 208l 6,429,000 5,714,000 715,000
= 4,500,000
= 1,929,000
01 Al & HI 5,654,827 5,293,732 361,095
OZE3 A AL 5,654,827
—SHEMEE Y 5,654,827,000& =14 5,654,827
= 4,500,000
= 1,154,827
02 Zeltl 760,000 407,000 353,000
O SSIAHAL 760,000
—SHEMESSNL(AF DN .HI.ES) 760,000, 000& =14 760,000
03 Al 2 CHHI 14,173 13,268 905
OZE3AHAY 14,173
—SHEMEES Y 5,669,000, 000& *0.25% 14,173
78 M2 A 526,715 737,155 A210,440
401 AIEBIZ 2018l 526,715 737,155 A210,440
01 Al & HI 523,079 732,079 A 209,000
OL=2 WHMAMY dALHES 505,000,000 *3.58% 18,079
OL-E22 Wl A (L=3.0km) 505,000, 000& =14 505,000
03 Al &2 CHHI 3,636 5,076 A 1,440
OL-ZFE2Z WA AL (L=3.0km) 505,000,000& x0.72% 3,636
Ngatae G729 STAY 31,600 1,037,900 A 1,006,300




SN MGt AE A
HH: YMSTO %22 UHN DI(BYRE/MGLE - 2H)
ool NLASE e (o9& @
SN -EB .S (SH) - MEAY - BAS ofl A2 e HZ=2
401 AIEHIZ 201 H| 31,600 1,037,900 A 1,006,300
31,600 1,031,600 A 1,000,000
SAMaLE 27 SEAIY AAEH 249 1,000,000,000& *3.16% 31,600
22 FA&2 At 370,752 70,000 300,752
L LYl 370,752 70,000 300,752
368,880 70,000 298,880
Sl BEXL2AX EEAY AAEHESN 1,200,000,000& *3.24% 38,880
AT BEXRASRAX SHAMY (22 0.85km) 260,000,000 * 14 260,000
SLEAEY 70,000,000& * 14! 70,000
24l 1,872 0 1,872
|[gtalaE BXSRAX SEAS 260,000,000& *0.72% 1,872
S o 4dX ¥ FA22 33,530 36,903 N3,373
OB R 383,530 36,903 N3,373
01 Al & HI 383,530 36,730 N 3,200
ASHE AA (K AAL 3,200, 000& *304 A~ 9,600
OAstd Al X 22l 23,930
— 43N DFE #2l 500, 000& *193IH 2= *10% 9,650
— AN EXE AX 170,000 *70H4 A~ 11,900
— AN 22 &M 20,000& *11904 & 2,380
ol4& L (BHES/AGIEE - £=F) 5,208,120 1,869,918 3,338,202
= 2,558,000
=S 990, 700
= 1,659,420
ol=XelAld &X 5,208,120 1,869,918 3,338,202
= 2,558,000




Sk
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=1

el

Aot AHE A
St 2| (BEES/AG+E - =3)
St=HMelAld &X

2 _ PSJE]
SN -HM . (3H) - HEALY - HES Off &F 4 ‘Oﬂ,‘qﬁ Hwsz2
[ 990,700
= 1,659,420
ST Al&EE 50,000 201,000 A 151,000
401 Al&2HI L SOl 50,000 201,000 A 151,000
01 Al & 50,000 201,000 A 151,000
SUSENR 0S54 E AALH B 2,000,000,000%! *2.5% 50,000
ZZstaC bl 618,720 0 618,720
207 & 7oKl 450,000 0 450,000
01 AR 450,000 0 450,000
O=2 Wolg 2elHs 28 89 450,000,000 * 14! 450,000
401 AlEHI L 2Ol 168,720 0 168,720
01 Al &b 168,000 0 168,000
OMMHASINZ2AHSLALE SN2 100,000,000 * 14! 100,000
OBt 4T 22 CCTV & AIE XA 5,000 *3,600m 18,000
OBt AFLR 2 =4 5,000 *10,000m 50,000
03 Al &2 CHH| 720 0 720
OMBHM LN Z2AHS LA LK 22 100,000,000 *0.72% 720
St H 2l Al L A R 4,539,400 0 4,539,400
= 2,558,000
[ 990,700
2 990,700
401 Al2HI L S Oh bl 4,539,400 0 4,539,400
= 2,558,000
[ 990,700
2 990,700
01 Al &l 4,520,357 0 4,520,357




A Aot Z AN A
HE: G4 E O (BARS/MOAE - +F)
el St=HMelAld &XI (2 &@
S BB SA(BH) - MEANY - BES 0f & o8 e HRE2
O=HIEZ AL 4,520,357
— O EFHZXN A0SOt E XA S 1,436,210,000& 14 1,436,210
= 1,009, 000
< 216,200
= 211,010
— 2ot BESEAY 2,090,447 ,000& » 14! 2,090,447
= 1,049,000
= 524,500
= 516,947
— 2ARAlSt=HelAEE X ALY 993,700,000& =14 993,700
= 500,000
= 250,000
= 243,700
03 Al 2 CHHI 19,043 0 19,043
O=HIEZ AL 19,043
— O EFHZXFA0ISot=E XA S 1,441,400,000& *0.36% 5,190
— 2ot BES LAY 2,098,000, 000& *0.36% 7,553
— 2ARAlot=HelAEE X ALY 1,000,000, 000& *0.63% 6,300
HY2IHZH (Aot AL A ) (DIEH/DIE) 58,890 62,690 A 3,800
JlEZ 58,890 62,690 A 3,800
Jl2Z 58,890 62,690 A 3,800
201 L Er2F | 31,890 31,890 0
01 At 2teltl 31,890 31,890 0
ORNEN 1,831,000 «15H 27,465
O= &l 2,625
— S20al bl 7,000 x15F 25! 2,625
Otz 1,800




A MBS AIY A
A M 2AAH| (&0t AL A ) (JIEHDIE)
chel: Jl=2 Yl R
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
— 0= SAD| 150,000 »1CH+12& 1,800
202 O Hl 23,400 23,400 0
01 =W HI 23,400 23,400 0
O2 ol 80,0003 x15F 123 14,400
O&2 0l 75,0002 x 15 8 9,000
203 22 =X | 3,600 3,600 0
02 RItatE =&Yl 600 600 0
OFItatg 2 F=| 40,0002 *15H 600
04 RN2EHRF=LHI 3,000 3,000 0
FA2ILRFAH 250,000& x12& 3,000




